2.4 Adding and Subtracting Polynomials.notebook February 27, 2024

Solutions

Page 74 #s 3ac, 4ac, 5ace, 7, 9aceg, 11, 12
Page 75 #s 14abg, 15, 18

3. Add.

a) 3x+(dx+2) c) (5x+2)+(3x+8)

e %X‘I*LL)Q‘\“Z = gx+z+%3&+8

2% 4l =¥x Sx H3x =8X
2 +8 =10

- Xt ES) K> + 10
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4. Subtract.

a) Tx—(2x+3) c) (6x+8)—(2x+5)
= Qe —2x—3 = &x+8-2x"5
%o -Ulx = Sx Ex -2 = Y4x

= Sx-3 s-S=53
== 4o +3

5. Simplify.

a) (—4y+6)+(-12y-8) ¢) (4a’-3a)—(6a’ +4a) e) (<9y7—11y+2)+(3+9y7)

:*Lkbfli—ﬂzxjﬁ :LI-O\Z-:}_O\“_Q\Q*_LL_‘*

—

~ by ~ 124 =16y Qi Lok =202
£-8 =< — o= lon = =T
—%“,éb—z E) *20\2—}0\

-AyT-ilg 12 4+ 39y

— %"+ 99 =0
Z*%:Sj ::D—//jn‘-S
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7. We can think of subtracting as “adding the opposite.” For example, (2x+3)—(4x—5) can be
expressed as (2x+3)+(—4x+5). For each of the following, express the subtraction of

polynomials as an addition and then evaluate the sum.

a) (6x+2)—(=5x+8) b) (3y°+2y—-4)—(8y"—y+6) o (—a—3)—(-2a’+3a—4)

= (6e+42) +(sx-8) :(351 27U) +( 8y )

- éx_*}ﬁkij—a:é “33 7k -83 +97b
=1
éx-l-S)i _Ié'x 3_‘9 83 :—SEQ
“ 50 29+ 9= 35
= |[x-6 -~ - 6~—IO
— - SD {-3940

— (-o\—_§> ’(’(20\2"30\""“(')
= Cor 3 o3atd

- - e :“'(-0\

2
4 = = Za - ot
9. Simplify.
a) (5x+4)—Tx e) [\ +4y +2] ( Vv —31+1])
¢) (4x°=Tx+5)+(6x" +9x-8) g) (5z-9)—(9z-8+z7)
A
&> Sx + &~ % e) 91+L(-31+2+‘@3
~3y 411

ey +6y" = 100°
— ——ZJC"'L" 2+ =13

Q) ol e S+e T Sy'riog 3y

9)5'2 °lZ +8 2°

_.?-;Qg—(- Ol)(’gt IS >y ZOlZ ;—‘-*CPZ
— = - -9Q+5 = -

’—i=> /O)C—L4’2)Q’3 =S "Z 4z =
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11. Simplify.
a) (5x4+3)+(2x—D+(-3x+8) b) Ba+4)—(a—6)+(—da+T)
= 543422 ~1-3x+8 = tl-otb-UntT
Sx+2x~3x=4x ‘59\—0\~!+0\=‘Zo\
= 4 +10 = -2t 17T
c) (3_\:\'2 +6.(—8}-')+(9.\f_\-‘2—2_(+4_1-') d) 1%!;2 +§n—§:‘—[i§nz —%n+%:]
— (A T
= oy + bx -8y + Uy = 2x + )
2 2 S 3
gx 1—-{- qu = ’2X9 _Ln1+;n_? _ihz,‘.\/\.
Y 23T 3R T
6x —2x = %X , ‘%
- 2 z _
-8y t4y =Y A SRR Co
24 ax- b
— [yt XYY Z2Ap2 2 2
J 3 =" T 0
-5 _ 7 _ -2 __ ®
3 3 3~
'_;> N +lﬁ:n -4
. . . . 2x+5
12. A rectangle is shown on the right with algebraic
expressions that represent the lengths of its sides. v_4 v_4
Determine a simplified expression that represents
the perimeter of the rectangle. 2x+5

P = <2)Q+S->+ (JL‘

@) (24+5) +(x =)

O 430 #2x > = &
S-4+S-4& =2

—) F=6DC.+Z
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14. When using column form to add or subtract polynomials, like terms are aligned vertically. The

following example illustrates that (3_'.'g +5x— 4} Jr(.v:g —Ox+ ?] equals 4x’ —4x+3. 3t + 53 —4
Express each of the following in column form and then add or subtract, as indicated. +  ¥? —9x+7
4x’ —4x+3

b) (v +5y-8)+(2y*~Ty+4) ) (8x7+3x)— (24" —4x+5)

314-'39—8 8:8)33(*(‘)
~2x ets

éxl e S

a) (—dx+6)+(6x-7)

-4 + 6
+ 66X -F 42, -Ayth
2 > - | 3:9" -2 -t

15. The height, in metres, of a golf ball above the ground r seconds after it is hit is given by the
expression —4.9¢* +21.8¢. Similarly, the height of a baseball that is hit at the exact same time as

the golf ball is represented by the expression —4.9¢* +20.4r+2.4 .

a) Interpret the expression (—4.9:3 +20.41+ 2.4] —(—4. 9" +21 .Sr) in the context of this

The differen in height befuueen

e Fuo balls ok © j"V'?f\ AR of
€ Seconds.

b) Simplify the expression from part (a).

(-« 5+ 20.4E +2.4)" (~ et +21.8E

= _ 4?4204t 42 4 + 4" -21.8C

R [ O =D It

Jo.4E—-21.8C =7

situation.
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Wb int = |

=14 (1) 2
= -14424
= |

~~

c) Evaluate your result from part (b) for r=1 and r=3.

Sub /‘r\'tz 3
~14 () 424
42 +2.%

——
—

—
—

= -,-8 ~

d) The two values calculated in part (c) have different signs.
Interpret these opposite signs in the context of this situation.

GXP(QSS"OV\ IS l\e@l\(’ of- boseboll
//'Q/QQ Moﬁ A&Shf‘o{ ‘H\Q f‘japf l:)O\”

:) %Siﬂl‘f\/Q ANSWS” MNRANS bc\jgba// /s
highes thon dhe o bl .
/\/%OJL’VQ onSser Means e oplf ball [s

_______3
highes fhon #e basesall.

18. For the triangle shown below, algebraic representations are given for the lengths of two sides. It
the perimeter of the triangle is 2x* +x+13, determine a simplified expression for the length of

the third side.
Firstly,odd the Two
)(:\o N S:.O‘QS-

3% +5x-2

252 Ux 48 43" +5x:2

Z.DC‘I"I"%JC'l = S'xl ﬁ\lrcq S/.o’e S 7"1\,2
- L(')C 4 Sox. T X &J.#-Q/?/\CQ be‘/‘weer\
-2 = S the gDef-"me‘fef o

= 2+ X +13 - ﬁzﬁﬁé
= 25 TA4X *13- S E-x b

Zx’}— Sxt = ‘312
X=X =

13-6 ~
— The

= Soc +x+6

>
Hnicel Side is
~2x i+
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